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Acids & Bases lll 2019 in-class worksheet Name:

1. Calcium hydroxide is a strong base that undergoes 100% dissociation in water.
Find the pH of a solution made by dissolving 1.60g in 1.00 L of water.
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0.0028 What is the pH of a solution prepared by mixing 25 ml of 0.50 M NaOH with 20.0
ml of 0.10M HCI? C.0lLs oK~
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4, It takes 22 7 mL ofaO. 20M NaOH solution to titrate 15.8 ml of HC solution. What
is the concentration of the HCL?  Ma0H + WCl — Aact + Hy ©
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5. It takes 30.5 mL of 0.53M Ba{OH); solution to neutralize 50.0 mL of HCIl. What is
the concentration of the HCL?
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